RIF3

REFSERLAE TFT
o RAAU

* ESRA

o ZR/ENEER

< BB Z TIEFR

novotechnik

Siedle Group

NOVOSTRICTIVE
SR RgEREA
{Ekas
JEERRTUAY

T™M1
fk A=
%

B ITIEE WM A
=) @)

« REERFNSEREIAR

o THUREEIR , BEBURENERIE

« IEE TVERMEES 350 bar ; IBETEES 450 bar

« MEUHREIES|S |, JEEAtNE

 TBRAGH IS

o BB AR PR

 EHEIHEES

- KMFEESIA 0.04%

« TIERE TR

s B ESRE/KFEMCERIIBEIZEMR A, ELanISO Bkt

HELRISO11452F it ESEEESTEL Ff,

o EAEESR I B AR B

e

ey ERHERERTMIT LIERRR T MR8 , SSMREMSFEVENE. RAMEMERE=MNT R | i
%1?&2%%@«1@%?*&%%%%%0 HEREREREARIUERSE , BRE&SIIA2000%2K, TRAZHIRIFEETHIMNE
Ho

%8
R R W 1.4307 / AISI 304L
&2 ¢ AISiMgBI
HIFF © AEE5N1.4571 / AISI 316Ti
ZHf : OB, FKM 80 , Supporting ring: PTFE
s FENHEL , FAMS 1SO 40264244 [E BB
SR M12x1$25L , AR/ 3x 0.5 mm?2 B34 (AWG 20), PUR , sl / BEL B M12x1 , ARl , 3584
Nigs#
R< BIRYE




novotechnik

Siedle Group

I TRaFRtE 5 EE

iTaHER AR
IHERFHAUS

75

T{EHRIEUD
8: T{FHEUb = 12/24 VDC, 24 VDC

WmEs
1:0.1..10 VDC
4:05..45VDC
5:0.25 ... 4.75 VDC

LS
1: LA, NESRE
2 TIEREE, WEZRE

BSEER

104: M12x 1383k, 45t

251: 3R, R, A = 1K

253: SRR, AL A = 33K

255: 3iERER, AHRREL A = 53K

438: 45+ M12x1 JELEM, B£1<80 mm
442: 48t M12x1 iRLEH, B4 120 mm
446:45F M12x1 FRLEH, S£1< 160 mm
450: 45t M12x1 ELEM, 844200 mm
454: 45+ M12x1 1ELE, 84215240 mm

0o 5 0 0 -3 05 -8 56 1 - 4 4 2

PliE T ES

305: $EAIVE=0 48m
307: fEASUE=0 48mm | AR M4x6 PORREFL, IATAISNELS 7.5 mm

BSiTIEEE
FRAEREE 0050 Z 2000 mm §25 mmigif
IR E RS

b=
N



novotechnik

Siedle Group

CAD &#}&3% www.novotechnik.de/
ch/download/cad-data/

r 1
L 4
|
]
[ee]
<
o~

Ly

oo

~ K~

£z 83 —

a8 M4 / 6 deep §8 @10 ™~ s

VI A oo g
oo 298 £

-~ Vi A = g
i g

% o
Q
1]
|
r A =T
L d — Lo rrd

T™M1-_ _ _ _-307-__ - __

With internal thread M4x6 TM1- -305- -4
. L] 305 _ 4
of — ——

o
i}
N
w
g |
g Position marker
u /
- r a
L 4

30 #1
v
=
i) —
11,5
24,8 s08

o
&
=]
i . 2
]
o @12 o @ E]_ =
5 N b
< M12x1
?
g $29,8
$29.8
TM1-____-305-___-2 TM-___ _-305-___-1

=1



novotechnik

Siedle Group

BAEH

BEEN TM1-___ _-305-84 -___ TM1-___ _-305-81 - __
TM1-___ _-305-85 -_

BHES 0.25..475V 01..10V
05..45V

i > 10 kQ

Gl 0.5 kHz

BSTIEeE (RYL) 0..50 mm Z 0 ... 2000 mm

IR < £0.04 %FS (/7300 pm)

HEERANE +1 mm

DR <0.1 mm

aTESY < 0.1 mm

il = < 0.1 mm

BEIRE typ. 50 ppm/K (&) 0.01 mm/K)

T{EEEUb 12/24 VDC (8 ... 32 VDC) 24 VDC (16 ... 34 VDC)

TAERRERS < 10% Ub

TR IR <1W

S ER 36 VDC (5kR)

TR R A (-36 VDO)

Shtsis B (AN TYFEBERA36VDC )

#42FE47(500 VDC) > 10 MQ

wESH

BATIFRE TR S o

HiiRaNiEHR IEC 60068-2-6

20 g, 10 ... 2000 Hz, Amax = 0.75 mm

fugtR IEC 60068-2-27

F#P&4% DIN EN 60529

100 g, 11 ms (single hit)
1P67 (M1EREEM, BeliT 5 [EHRSIMALILACREE: IP69)

I{RRE

-40 ... +105°C (M128EL R EBE—K), -40 ... +85°C (M125EREE)

TIERE 0..95%RH. (2% )

TIEED < 350 bar

EHIEE < 450 bar

WEEH > 700 bar

bl TS

RERSMER MERBAT = RATREEXNRST | BB REA]
MTTF (IEC 60050) 346 & 346 &
WBE EMC IR

ISO 10605 ESD ( Ef&/4BfH ) 8 kV /15 kV

ISO 11452-2 EsRiEsTimEn e 100 V/m

ISO 11452-4 BCI BBAEBFHENTE 200 mA

CISPR 25 {E59HEUmE Level 4

ISO 7637-2 Transient Emissions Level 1/2

ISO 7637-2 EBiREIKaNITR A&

(1, 2a, 2b, 3a, 3b) Level 4

ISO 7637-3 EBiRMH LBk E
ISO 16750 EERERKEIRAE

(3a, 3b) HRKIFE2

Starting profile Level 4 @12 V / Level 3 @24 V, Load dump A +200 V

EN 13309 ZHRHmImE

ISO 14982 Rl /#rdlH AT

HERU/BPSR

FHNESEESTEL il

REMUEREARISREI REERFERE.

FS= BB . MURSNEERENESE

=i
i



novotechnik

Siedle Group

SHIEEENX
(5 L FBAR ELEH

L= BE2 _ BE4
TfEEEUb i 1 ) i1
i i 3 =] S8 3
E5HE £ 2 Fea S 2
iR i 4 - SR 4

Pin assignment M12
4-pole, A-coded

=1



s

B

novotechnik

Siedle Group

ke

signal

Error signal

max.

A Stroke

Output signal range

A: Unusable area

Stroke
-

A Stroke A
Signal
Error signal
N\,
max. \\
I I
o I I A: Unusable area
gl ! !
o I ]
® I |
g
E
3
min. ] - ) o |
1 [N
I I
] ]
min. max. Stroke

b=
o




novotechnik

Siedle Group

RIS HHR

Z-TH1-P18
INFZREER |, M3IRZLEE
L2154 PA6-GF
=& #4129
TIERE -40 ... +100°C
=EEH #3 40 N/mm?
ol & b S LeREIRyy BE SFEERA 100 Nem
MR ) ] £()
200005697 1
Z-TH1-P19
. N Z-TH1-PD19 #theE
32 5 IR . MARLLEITE, RILUSIR AR
L BRE
T+ \(j\ MR PA6-GF, Spacer: POM-GF
4 B Ei #5149
= . ém N ﬁq\ o & TIRRE -40 ... +100°C
) 2 ‘|‘ Qﬂ/ S 9 FEEN #7 40 N/mm?
IRy BEJERA 100 Nem
KCD\ RS Spacer ®£(4)
200005698 - 1
Spacer 225- I 400107117 incl. 1
Z-TH1-P30
P o IR | BN HERARE
%15 NdFeB bonded (EP)
= #5¢g
TYERE -40 .. +100°C
FEEN #7110 N/mm2
_ ] f®(1N)
I | 200106139 1
Z-TH1-P25
VBB , MABEE
% AR BREARY , B2REPFM
(%154 PA6-GF
TIERE -40 ... +105°C
1o g 3 gI S HEED £940 N/mm?
s © ) IR B EAMERA 100 Nem
= ] f(1)
E 200105076 1
0|
3
9,5




@511 )
/ @
o o
) \1‘“’
i
@117 2
Q41
|
|
I S
o I - o
|
018

novotechnik

Siedle Group

RIS HHR

Z-TH1-P32

TRELSIF IR

ME RN 1.4571
B8 #1429
TERE -40 ... +100°C
M ERE < 40 bar
ZE 720 kg/m?
BIKRE 36.7 mm

b 0] ®(1)

400105703 1

Z-TH1-P21

TTRYEIZTIRIR

(%153 BN 1.4404
i #3209
TIERE -40 ... +100°C
M ERE < 8 bar

BE 740 kg/m3
BKRE #326.6 mm
PR £(1)

400056044 1

IEFASIF IR | B RHIRERE | RITE
(ERREEERERINEE | AR EIREER
PR NERLAME RS, ( BIRITER
|)



PSR 1P67

IP67 %4 DIN EN 60529 Rife
IhiFSF4R 1P68

IP68 | zo DIN EN 60529 #Rtt

m9

D15 3 /
W2x1
Ll o O

334

608

0145
275 3 4 -~
.i,j o O 2=WH
3=BU
4=BK

(Y]
¥
N
o

'8¢

Xzl
gl MS.
|
|
vie

0z o
CLIN

L=
ﬂ
o
N

PG9
017

HERROFAISITIERS (EMC) Fif
((li:)) Fifiken
BUFORUES. S0, 18RS i UL

T W, el

novotechnik

Siedle Group

BLE M12 R5EsL

EEM-33-35/36/37
AEtMI2xIMERESL , AR, HEBERY , T
R, P67 , imiReE

LT PA
BAHRE PUR, @ = £9 6 mm,

-40 ... +85°C ( EBEKE)
ficgea=227 PP, 0.34 mm?
PR BESEY KE
400056135 EEM-33-35 23
400056136 EEM-33-36 53
400056137 EEM-33-37 10k

EEM-33-38/39/40
AEtM12x1VIEsHEsk | AR | HEEBEIERES ,
B, P67 , iR

HELANE PA
EBYRE PUR, @ = £9 6 mm,

-40 ... +85°C ( EIERE )
264723 PP, 0.34 mm?
PR BSEN KE
400056138 EEM-33-38 23
400056139 EEM-33-39 53
400056140 EEM-33-40 103
EEM-33-89

AETMI2xIMIEREL | AR, HERCERIRIZEM
FRI%  IP67 , T,

TIERE -25 ... +90°C
B PBT

ERTSLNE 6.8 mm, &KX 0.75 mm?
138

FEERmS BSEX

400005634 EEM-33-89

CAN | cAN-bus



novotechnik

Siedle Group

EHERESRES (L8) BIR

AT

R SR TR
i | FrIRIAER5885 | 22
&, A0l =

fkYm : 201114

Phone +86 21 58997738
Fax +86 21 58997737
info@novotechnik.cn
www.novotechnik.cn

OF=H0]

[=
© 2022-7-20

HMNAREIT RSP SE, ESERRN TIFEMERM TG | XS HETRRELNISP TERHMARERENRMN. ErREX e EE A5
BIRATEEZ WRBEAINT R | BRI SRR N ERMEMNE P RASRERRFE—ENRRYE. Bt , REEFWREITTEANATIIEESE. HREMEATER MR
TEIREOR | RS ATIEAN.



